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(ion chowing the relative contribution of different green house gaseg
jon S
ecl OP

.o, the COIT

L Identify the “‘ﬂ
to the total glOY 1%

(AY CFC-20%, €Oy 00"

arming: Bh 3
I Methane-14%. N0 goy,
. 0/
| 0%, Methane-2070 Ny0- 1407,
N AR “n(‘( “,\ /0y L,
e 0%, Methane-070:N,0.200,

. e ,—14(\ b, (‘()-\ .
i )%, ;\,1Ct|,m1c-2()°/ﬂ. Nz( )-6%.

‘ 1495, CO,-0
(D) CFC-14%, CO0

\ch having bilobe dithecoug

>  has 10 stamens ¢ o % anther, If each microsporangium has
k\;:]»\fl\\;lnl:(:ﬁ\m- cells, how many PONeR BRNS woulq be o duceq by the flower ?
S polie S
&) 40 (B) 800 (C) 1600 ) 200
) . lt ' ' .
3. During transcription the DNA sti and with 3' -, 5 Polarity of the structural gene always acts

as a template because

(A) Enzyme DNA dependent RNA polymerase always catal
3' — §'direction. ‘

(B) Enzyme DNA dependent RNA polymerase always catalyse polymerisation in both the
directions.

(C) Nucleotides of DNA strand with 5' — 3' are transferred to mRNA.

(D) Enzyme DNA dependent RNA polymerase always catalyse the polymerisation in
5'— 3' direction.

yse the polymerisation in

4. According to David Tilman’s long term ccosystem experiments, the total biomass in plots
with more species shows,

(#4) High variation from year-to-year. -
(B) Average variation from year-to-year.
(C) No variation from year-to-year.

(D) Less variation from year-to-year.

5, T'he toxic heavy metals from various industries which cause water pollution, normally have
a density

(A) more than 15 g/em? (B) more than 7.5 g/c:m3

(¢) more than 12.5 g/cm? - (D) more than 5 g/em?

i
e S
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_— teh.
6 Find out the correct mi
. -
l)igenqo Ps\lhﬂg(,l l\/'lnln Orgﬂn m‘fccted
‘ ‘ ne “i'l i
PBactert Lungs 6.

(A) Typhoid

ound woy ‘ ,
‘B) Filariasis Sommon! Worm  Small intestine
( » AT TADIe

(

¢ o 0'/,0{] 4l
(C)  Dysentery Prot Liver

. S Qi )
(D) Ringworm Fungt Skin

olumns and choose the correct option :
Column-11

p.  Malignant malaria

~

Match the following ¢
Column-I
Haemophilus influenzac

l.

). Entamoeba histolytica q.  Elephantiasis

3. Plasmodium falciparum T Pneumonia

4. Wuchereria bancrofti s.  Amoebiasis
1 2 3 4

A r s p d

B s p a T

©) r p q S

M q r© s P

etic engineering, identify those which are

8.  From the following tools / techniques of gen s
1Is and choose the correct option

required for cloning a bacterial gene in animal ce
II. Ligase

IV. Microinjection

I. Endonuclease
III. A. tumefaciens

V. Gene gun VI. Lysozyme

VIIL. Cellulase VIIL. Electrophoresis

X)) LIL 1V, VI, VI « (B) L, I, 1V, V, VI
(C) 11, 111, 1V, VI, VII, VIII (D) 11, 111, V, VII, VIII

9.  Identify the 1incon*ect statement regarding the flow of energy between various components
the food chain.
(A) Energy flow is unidirectional.
("B) Green plants capture about 10% of the solar energy that falls on leaves
() Each trophic level loses some energy as heat to the environment, - |

(D) The amount of energy available at each trophi '
availe ch trophic lev 1 hi
phic level is 10% of previous trophic level

S —
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» > ﬂ 4 MNe
ocent 10 ”“’I;“.rctmn . ‘ K"“inlh
} . " “”5 Pn' e ﬂ”‘ C§ "re
Janse o aation £ gion SPecializeq
RISt [xv ‘
g ’m gjon ,\‘3t11\:‘,l\1;~ alation to Perforn,
\HY’ Res] Hon ﬁnt“‘&l“ Iﬂ"on |
Y g ““ v )
c; §\( ¥1 - lation and
YY) (s l
‘ ﬂm“ ’Llﬂn y
al ﬁ!ﬂ"” LA : " l" 0 D(\t
ldentily the flor \ G* LB) - ﬁm'ly
) . “. 0« I
A) S Kt | ¢op, 143 A
) (; d 3?]1 C}
| . A [ . (3
() \‘,\‘ }\‘,‘).l i (0 ( )) (? ( /"“\)
¢ preser %) A5 Q
JJar ¢ mbium 15 | B bctwem f i
When the Vasett ¢ Xylem qng
ang ph]
O

lled, (B) pndarch

bundle 1s €4
(A) Open:

The function of T
(A) Grinding of dec

(B) Transportation |
(€) Increasing (he effective area of absorption i e
(D) Grinding of <oil particles

ched pair of organisms w; :
. th th
. Diptera eir order.

Poales

Select the correctly mat
(A) Musa, domestica

(B)  Homo, sapiens
(C) Mangifera, indica Primata

D) Triticum, aestvum ~ :  Sapindales «

Match gzlz(;l:;mln-:)lwith column-II and choose the correct option from the following :
. Bryophyta( ant groups) C'olumn-II (Examples)

2. Gymnosperm P Pln.us

3. Algae q. Adiantum

4. Pteridophyta r.  Sphagnum

23y s.  Ectocarpus

(/’U r p g

(B) q p q:

©) g 5 '

(D) s ; [

q

p
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¢ of synapsed homologous chromosomes is called,

a pﬂi
(D) Pentavalent

‘

16, ~ n e ~ i l‘\l , :
The complex formet -(LH lli\‘“'"‘" \ (C) Univalent
(A) Triad
17. A 1 witl olumn-IL Select the option with correct combination.
"+ Martch column-1 with ¢
. -1
Column-1 Column - » - I
i : Two mnlcculw move in the same direction across !
ypertonic P -
: l"n \' ll paternal solution is more concentrated than cell sap.
Capillarity  q. e P
. I 1 . . Water loss in the form of droplets.
SVMPOr . . ) - i . '
C. N}(' \ . Ability of water to rise in thin tubes.
. uitanol B { R
(A) 1-q, 2-1, 3-p. 4-8
(B) 1-q, 2-p. 3-s,4-1
L) 1-q, 2-s, 3-p, 41 ¢
(D) 1-q, 2-s, 3-r, 4-p

79 I 5

£

ent induces deficiency of iron, magnesium and calcium ?

18.  Toxicity of which micronutri .
(D) Zinc

(A) Molybdenum  (BJ Manganese (C) Boron

19.  Considering the stroke volume of an adult healthy human being is 70 mL, identify the

cardiac output in one hour from the following : |
(A) 30.24 Lithour ~ (BY302.4 Lithour  (C) 50.40 Lit/hour (D) 504.0 Lit/hour

20. Function of contractile vacuole in Amoeba is
(A) Digestion and respiration
(C) Digestion and excretion

B) Osmoregulation and movements -
(D) Excretion and osmoregulation

Match List-I and List-II with respect to proteins and their functions and select the correct

21.
option. ‘
List-I List-II
I. Collagen  p.  Fights infectious agents
2. Trypsin q. Hormone
3, Insulin r.  Enzyme
4. Antibody 5. Intercellular ground substance
(A) 1-s,2-q, 3-1,4-p
B) 1-s,2-1,3-q,4-p~
(C) 1-s,2-p, 3-1,4-p
(D) 1-q, 2-1, 3-q, 4-s
gg . .,;,Q § X \Q)h Space For Rough Work/ﬂ: Y 0\¥>§;{<\)
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Are trancr: _
pe car dram ® ansmitted through ear ossicles to
(B) Tectorial membrane

™ . )
s Ihe vibrations from!
A) Oval window ’ :
- i ; (D) Cochlea
(C) Auditory nerves
‘ ot
L‘ I\ ) " \,“,5
il .’ﬁn]t\ﬂﬂ SPECHeS ”(\\ ' | :
l () Once in lifetime

(D) Every year

(A) Once in 12 years
(C) Twice in $0-100 year®

tjous buds arise from

(B) Shoot apex
(D) Leaf axil

2 i
24.  In Bryophyllum, the adven r
Veotidy | af marg!t
(A) Notches in the [eaf marg
(C) Leat base
osperm nucleus 18 formed by fusion of

Primary end
amete

(A) Ovum and male g
(B) One polar nucleus and male gamete

(C) Two polar nuclei and two male gametes

(D) Two polar quclei and one male gamete .

(]
h

ng the correct labelling for p, q, r and s with reference to |

26. Identify the option showi |
conducting system of the human heart.

v = a5

(A) p-AVN, g-SAN, r-Interventricular septum, s-Bundle of His
( B‘.) p-Bundle of His, g-SAN, r-Interventricular septum, s-AVN
(C) p- Interventricular septum, q-AVN, r-Bundle of His, s-SAN
) _Q T ~y oy ,

AD) p-SAN, g-AVN, r-Bundle of His, s-Interventricular septum

27.  Atrial Natriuretic Factor (ANF) acts as a
[ [S e e Iy ¢
(A) Promote ni '
_‘ ) Promoter ()fr Kenin-Angiotensin mechanism
(B) Vasoconstricter -
(C) Hypertension indycer

(D)) Check on Renpj '
01 Rumr/\ngmlcnsm mechanism

e —————————
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30,

31.

Q

junction of the tw

Lty ith reference 1o fermale fr'g"f't‘ef\1‘75%“f‘ gystem
“y olen HIRI ey .t - b wivaivd
Conider the following uent® 0T hymen i not o relinble indicatar of virginity or

Niw

. 17
.,Hw;[!’ii &L

tement 1. The |

wevonl experend

o 1 determined by the father and not by the mother.

SR T
pvint ht fotloWwing
L1l

|_~.'mh"

LAY NI CCrayemint 1AM
Roth the Simemen ' xt:!“'”'ﬂ" 218 correct
UL

. i
‘\HH"‘ ment 3 ih\ ity it ”“ o

8 : i
Uhonse the corredt appion aenl 2 Wre corvect.

) Starement | I Wi ent 2 are wrong

cm
il | and st

(L) FRagh the Staten onl 2 I8 wrong

1 Qptem
(DY Starement 1 ix vorred pna v

Jude.

\js and vas deferens

{he qu 1
The mnle oy necessory e LR

5 ' 1
(A) Rete testis, urethra, \‘P'“"l-\'
- 9 '\'l‘
(B) Retete axa efferentifs e .
NOTe teslis, N M ppidid.\"“'s and vas deferens
crentidh

rentia, €P!

inal vesicle and vas deferens

jidymis and seminal vesicle

(£) Rete testis, vasa efl
(

(D) Rete tostis, vasa effe
y the List-1 with List-I1.

| ; atcl
With reference to human sperm ma
List-1 List-T1
1. Head p. I illed with enzyme
2. Acrosome q. Contains mitochondria
3. Middle piece T Sperm mouluy.
4. Tail ¢ Contains haploid nucleus

Choose the correct option from the followng :

(A) I-s,2-1,3-p,4-q

(B) 1-q, 2-s, 3-r,4-p

(C) l-r, 2-q, 3-s,4-p

(D) 1-s,2-p, 3-q, 4T «
Which pair of the following cells in the embryo sac are destined to change their ploidy after
fertilization ?

(A) Synergids and egg cell
(C) Egg cell and central cell

(B) Central cell and antipodals
(D) Antipodals and synergids *

reproductive system, a tiny finger like structure which lies at the upper
o labia minora above the urethral opening is called
(B) Clitoris (C) Vagina D) Hymen »

In the female

(A) Mons pubis

Space For Rough Work
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14 “”)l'i
(p) LNG - 20 -

33
* An example for horm (o
| (Cy Implant

(A) Multiload 3758
jvels gafe during
8 nfl“’cim“ncy

(1B3) 180 day
ester

4. MTPs are “,‘nnt,g.h‘g'(‘(‘ relnt
(M Gecond trim

(A) 24 weeks of pregnfncy

(LY First trimeoester -

. & correct ?

35, Which of the following statem e} |1CL.( {

(A) Change in W hole set of chromosomes 18 called aneu

i y& ! b

(B) Sickle cell anacmin 18 8¢ :
: e

(C) Female carrier for ,,C,noplnhn may transm

hi
(D) Thalassemia is a quaht

plnidy.

]nnn(imtivc problem.

it the disease 0 gons.’

ative problem.

s developed b
o X y(;:) Mendel - (D) Tschermak

36. ‘Gcncmmpping'tcchnolog)’
(B) Sturtvent

(A) Correns

es one gene has effect on multiple traits.

37.  Find the co-ect statement. '
t, but sometim
t allele and another

(1) Generally a genc regulates a tral ;
f man is regulated by one€ dominan

(2) The trait AB-blood group 0 !
recessive allele. Hence 1118 co-dominant.
(A) Statement (2) i correct. _+(B) Both Statements (1) and (2) are correct.
(C) Both the Statements are wrong. (D) Statement (1) is correct.
ectly characterizes various phases of

ing table, select the option that corr

38. From the follow
Luteal phase

menstrual cycle :

Menstruation phase Follicular phase

(A) Menses Developing corpus luteum Follicle maturation

(B) Menses L.H. Surge Regeneration of

] endometrium

(C) chcnmfayion of High level of progesterone Developing corpus
endometrium luteum

Ovulation

(D) Matured follicle Regression of corpus luteum

Which of the following is abbreviated as ZIFT ?
(B) Zygote Intra Fallopian Tube

(A) Zygote Inter Fallopian Transfer
' (D) Zygote Intra Fallopian Transfer

JE

(('Y 7voote 1 .
(L) ‘/‘,"t”l(' Inter ,'Zl”()l)]““ ']‘Ul)c

g& Space For Rough Work
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46.

aming acid restdues

WOR . i
g Decmuse they are rich in DRRH jalanine
A 4 _\'4|1 i | ‘?“\r"
li\’.huh i'vn\h bie BI !‘u-'“ fn) ,‘\1'”5‘””‘« 3\“‘! “‘\i ’ “‘.
. | \ 2 1 A anins
1A Arginine noit uai (1)) Argining ‘n\(! /
W) A L
inine and
24 ' ¢ hecause
fronte it they are aplit genes becd 4 by Intron.
: ‘:L“\ Vastie gronee pie o IS “‘) '.,‘uﬂ\ﬁ are ilﬂ(‘.ﬂ'”‘“c( ’

nly: in Fxons only.

1
they coiitadn Tntront \ .
Hlﬂ"l' Wi

{4

(LN

(h Mulons. (D) they conta

Introns are inten

idated by

' <[\ .
| wis { [ (1)) Hershey and Chase

the ae-Operon mode
(D) Watson and Crick

CAY '
()

. Mnnml .
ANcois Tacah ﬂ”‘l l{u‘llf-"
Jacab and Crick
Whil t \OT an X or Adaptive radiation ? i
Ch of these 1s NOT an e (B) Plac al mammaks
acental 1
(A) Australi arsupials ' ¥ -
Australian marsup Darwin's finches
y arwin s 1
() Long-necked Giraffe (D)

ample {

g equilibrium, the frequency of
terozygous individuals 7
(D) 0.4

n 4 population of 800 rabbits 51\0\.\:"‘8‘ :;l’('"dx-\?/cmfblc"‘
tecessive individuals was 0.16. What 18 the quU:—"‘-y el
(A) 0.48 (B) 0.84 () 0.36

In male heterogametic type of sex determination
(A) Female parent produces dissimilar gametes.
B) Male parent produces dissimilar gametes.®
(C) Males do not produce gametes.

(D) Male parent produces similar gametes.

In one of the hybridisation experiments, a homozygous dominant parent and a homozygous

recessive parent are crossed for a trait. (Plant shows Mendelian inheritance pattern)

(A) Dominant parent trait appears in both F,; & F, generations, recessive parent trait appears
in only I, generation.

(B) Dominant parent trait appears in F, generation and recessive parent trait appears in F

I Pl 1 & 1

and I, generations,

(C) Dominant parent trait appears in I, generation and recessive parent trait appears only in
' generation.

A7) Dominant parent trait appears in I, generation and recessive parent trait appears in F,

generation.

!\ Hliil(‘(‘ For ll"“uh “’/(n‘k ulr‘-\r(’ Y O \
PR ‘ . 0y 9 &
o Ot ad e + V%
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B \6oo. Vb
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AR |

{ 1 s C 114 y
lowing insect pests

s resistant to which of the fol
it borer

w11
(B3) Shoot & Fru

The variety of OKra, pusa S
(D) Aphids
v

(A) Jassids

(C) Cereal ]C;H‘[\‘x‘llc
not tru¢ ?

: ¢ My > " (4
With respect to Inbr ding. pich amenE the following 18
spec L i ¢ - A4 1O 2ONeS
3 “gul n,llm E.LHL..N. .
(A) It helps in :wcumul:lll“” ol Jesirable genes
) A 'S . y s 1Y
(B) It helps in climination of _“ o an animal
% L fine 1M '
C e unlve | yre :
(C) It helps to evolve &1 ygosity: »

D : « homOZ) 2
(DY Inbreeding decrease® hot
jeties of rice developed in

Identify from the follo ir of better yielding semi dwarf var
entify from the 10 (

1y (B) Jaya and Kalyan S
(A) Sonalika and Ratna '
(C) Kalyan Sona an alika (D)Jaya and Ratn?

wing a pa
ona

rrogate mofher in which of the

gs are transferred into Su
d stage (D) -4 celled stage

In MoET technique fertilized €8
following stage ?

" _32 celle
(A) 8-16 celled st ) 8-32¢

d stage °(C) 16-32 celle

+4D) Bacterium

els of lakes in their
ues were found as

.« ripened bY
Roquefort cheese ! P(B) Virus (C) Yeast

(A) Fungi

E)

ollution lev

ce project to find out the p
BOD val

a scien
amples, the

Four students Were assigned 1
T g the quality of water s

surrounding. After analysih

follows :
Which among
(A) 0.06 mg/L

vater samples 1s highly polluted ?

(C) 0.16 mg/L (D) 0.6 mg/L

the following ¥
’, 3
AB) 6 mg/L
The toxic substance ‘haemozoin’ responsible for high fever and chill, is released in which of

the following diseases
(A) Pneumonia (},,Uf)]\/?{l]zll‘ia (C) Typhoid (D) Dengue
ymptoms of pneumonia.
congestion and discharge, cough, sore throat, headache

\"wf o
\bdominal pain, cramps, blood clots
» akness, stomach pain, loss of appetite
ficult "sz;"f’;- o fever 1
hing, fever, chills, cough, headache
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Selow J '
Select the cotrect statement from the following :
factors associated with r-DNA technology.

(A) Ther _
There are no risk ‘
heating Which is used to separate both the strands of Hene ¢

3 T \ “1) |

&} ) ] he ﬁl‘;il S“'P in l\( R 18
“\‘cx‘(\‘\‘ 3

\L) DN A from one organ

(D) Genetie engineering

jsm will not band to DNA from other organism.
vorks only on animals and not yet auccessfully used on plantg

atement with reference to Kangaroo rat.

.
Choose the incorrect st . : \ .
through internal fat oxidation.

A % TN . 1‘5
(A) meets its water rml”"‘m”

qter 10 remove excretory products.

(B) uses minimal W
A8 eliminates dilute urine:*

D) f : ssert.
(D) found in North Americat de

57. Génera]]y’ bears avoid winter by.un(?ergomg |
(B) Aestivation (C) Migration (D) Diapause

AAX) Hibernation *

mn-I1. Select the option with correct combination.

S8. Match Column-I with Colu
Column-II

Column-I . . ' .
Mass of living material at a given time.

Standing state P , . _ .
Pioneer species, Amount of nutrients in the soil at a given time.

Detritivores . -
. Standing crop S
(A) 1-p, 2-1, 3-s, 4-q
(B) 1-q, 2-1, 3-, 4-pe
(C) 1-p, 2-s, 3-1, 4-q
(D) 1-g, 2-1, 3-p, 4-

Species that invade a bare area.
Breakdown detritus into smaller particles.

AW o~

59, PCR is used for
(A) DNA ligation
() DNA amplification ¢

(B) DNA digestion
(D) DNA isolation

Which of these 1s NOT a method to make host cells ‘competent’ to take up DNA ?

60.
A7 Elution (B) Biolistics
(C) Use of disarmed pathogen vectors (D) Micro-injection
cmm—— ———
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